€ |0T| €€9 | S6T [2S|PS|PV|0G|2S|eF| 882 [8E |17 |6 |88 |V |66 | #o warTETwNE | FHH) HE m_: 611
X [(0T] 428 [Hgwer| 9 (S|P | ¢ |2 | T [Hwst|9|c|v|c|z]|T 1l = SEGH (o (Z0E0
A LLwWgT+WgT [ 4 FE]
T 9] 20G | 8.2 |LV|1G|8E|0G|EV |67 | 622 [9€|0F |[9€ |G| TH |17 | Bo msnckmwns | i §Y) <_S 6|1
X[oT| 28 |Hwer{9 (s | v ||| T |Hust|9|(s|v|c|z]|T el VA ! SOH |l |ZE
drpcwzgT +wgT [ £ FEA]
Z |8 | 689 | ¥0E |0G|IS|6%|1S|8V|SS| G€T |0F L7 |7 |17 |20 |1F | e Hbbmemmns | i Lylut <_ 6181
X|0T| 428 |fgwgr| 9 (g | ¥ e |2 |71 |Hwoe|9|s (v |c|z|T 1l 2=t SCH |0 |7En
dA4cugT+wog [ FHFEd]
¢ |9 | 2.8 | €08 |9V |69 |67 (GG | LV PG| 698 |6F |67 [E€G|LE|VE|LY |+l wkbmeriws | [y WwE |v]g 8] 1
X (01| 428 [Hgwer| 9 g |F e |2 | T [Hwoefg || v |e|a|T 1l %= SOH |l |ZoE0
d4cwmgT +wog [F X FE ]
€|€| 616 | 8.2 [TV |LV|IV|8F|1G|0S| T¥C |S¥ |SF [LC [L¥ |0F |L¢ FYME s B
X|0T| & |fgwog| 9 (G (P ||z |1 |Hwoe|g|s|F|e|z]|T e ZEE SEOH |l |7
SPAVAN\ s (o] BN G S =0 )|
G| 9| €1§ | c9c |0V |8V |9S|LY |8 (V€| 162 |8€ |9V |GV |LE| VY |1V | HEbdBWHHMT | 3 iyl [d] g |c] 1
X|0T| 28 [fgwog| 9 |G|V |e g |1 [Hgmos|o s (v |e|g]|T gl Fea SECH | O [FuE
dr4cmog+wos [ Sy
19| 698 | 082 |¥¥|L¥|cc|sP|es|es| 642 (25 |€% |1V | €V | LV | LY TYEHY Hitt 22 |d| 2|2 ¢
¢ |0T| 196 | 862 |TS|¥V|PS[€S|0S|9%| €92 (9% [8€ [0S |9F | ST |8E| (M T ¥E4E B HE (V|2 |2l e
€ |eT| ¥L8 | 962 |L¥|0S|1G|1S|CG¥|2G| 8L (8% |L¥ |9V [9¥ |o¥ |9F Y PVT HE W VT |11
X 10T 28 |fewoeg| 9 (g |v|c |z |1 |Hwos|o|s|v|elz]T 1l pascr e SECH | |7
NUVAVAS SRR Rt

& — (T L— LER7 (EE B &G SHEEY
B MY (H)HO0EH9H610Z  &uH T —(TL—L SYEYPYHUNT [HZ9%K

¢



